In-class Worksheet #5
Fall 2022 , Oct 18, 2022
Computer Science | & Lab

1. Copy example/demo codes
On storm:
cp -r ~zhang/public_html/cs1600/Codes/TypeDemo .

From your laptop, enter the following URL to your browser:

https://storm.cis.fordham.edu/zhang/cs1600/typedemo.tgz
2. Compile and run sizeofdemo.cpp

o Write down size of bool, char, short, int, long, double below:

¢ Note cin >> x has a Boolean value, indicating whether the reading is successful or not.
If you type a string such as “hello” at the prompt?

If you type a value that is larger than MAX_INT?

¢ Note how integer value is converted to bool...

3. Reading from Input Different types
int x;
cin>>X;
char ch1, ch2;
cin>>ch1;

string word;
cin>>word;

cin>>ch2;

//what will be the value of x and word, if user types “34s 100% 9”77



4. Use the ASCII table to find out what will be the output of the following code?

(1)
char a="#’;
int i=a;

cout <<a<<”,”<<i<<endl;

cout <<’9’-‘0’<<endl; //look up the code for ‘9’, code for ‘0’, and subtract them
cout <<’0’+7 <<end];
a='0’+7; //a’s value?
(2) Converting ‘0’-‘9’ to integer value 0-9
char ch;
cout <<”Enterachar0 ... 9:";

cin >> ch;

int a=ch;
cout <<”Integer value a is” <<a<<end,;

//To convert ‘0’ to O

If (ch>="0" 8& ch<="9’)
{

int b = ch-‘0’;
cout <<”Now we get the integer value “ <<b<<endl;
}
(8) How would you implement the Caeser Cipher?
https://en.wikipedia.org/wiki/Caesar_cipher
to shift a letter to the left by 3
5. Double to int conversion: always drop the fractional parts of the value, NOT ROUNDING

Can be used to find the integer part of a floating value:

double change_due =...
int dollar_part = change_due;

Todo: floating point’s precision issue: Compile and run narrow.cpp, and enter a value
for d that has many decimal digits.



6. What the following nested loops display to the terminal?
int n, m;
for (n=1; n<=5; n++)
for (m=5; m >=1; m--)
cout << n<<” times “ << m
<< “=" << n"m <<endl;
7. Practice if/else statement

e following flowch

“kind of haircut to get. .
~ and outputs the recommended haircut.

art contains a series of questions to determin
Write a program that asks the questions

(1 9%
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Appendix: ASCII table



Dec Hex Char Dec Hex Char Dec Hex Char Dec Hex Char
0 00 MNul 32 20 Space 64 40 [ 96 60
1 01 Start of heading 33 21 ! 65 41 A 97 61 a
2 D2 Start of text 34 22 " 66 42 B 98 62 b
3 03 Endoftext 35 23 # 67 43 C 99 63 ¢
4 04 Endoftransmit 36 24 § 66 44 D 100 64 d
S5 05 Enquiry 37 25 % 69 45 E 101 65 e
6 06 Acknowledge 38 286 & 70 46 F 102 66 £
707  Audible bel 39 27 ! 71 47 G 103 67 g
8§ 08 Backspace 40 28 | 72 48 H 104 68 h
9 09 Horizontal tab 41 29 ) 73 49 I 105 69 i
10 0A& Line feed 42 24 * 74 44 J 106 B6A j
11 0B Verticaltab 43 2B + 75 4B K 107 6B k
12 0C Form feed 44 2C , 76 4C L 108 s8C 1
13 0D Carriage return 45 2D - 77 4D M 109 6D m
14 O0OE Shift out 46 2E . 78 4E N 110 6E n
15 OF Shiftin 47 2F / 79 4F O 111 6F o
16 10 Datalink escape 45 30 O 80 S50 P 112 70 p
17 11 Device control1 49 31 1 81 51 0Q 113 71 g
18 12 Device control 2 50 32 2 82 52 R 114 72 «r
19 13 Device control 3 51 33 3 83 53 S 115 73 =
20 14 Device control 4 52 34 4 84 54 T 116 74 ¢
21 15 MNeg.acknowledge 53 P S 85 55 U 117 75 u
22 16 Synchronous idle 54 36 6 86 56 V 118 76 w
23 17 Endtrans. block S5 BECETEN 7 87 57 W 119 77 w
24 18 Cancel 56 38 8§ 88 58 X 120 78 x
25 19 Endof medium 57 39 9 89 59 ¥ 121 79 ¥
26 1A Substitution 58 34 90 54 Z 122 74 z
27 1B Escape SO, 91 SB [ 123 7B |
28 1C File separator 60 3C <« 92 5C 4 124 7C |
29 1D Group separator 61 3D = 93 5D ] 125 7D 1}
30 1E Record separator 62 3E > 94 5§ * 126 7E ~
31 1F Unit separator 63 3F 2 95 SF 127 7F O




Dec Hex Char Dec Hex Char Dec Hex Char Dec Hex Char
128 80 ¢ 160 A0 a 192 Cco L 224 EO0O o
129 81 1 161 A1 1 193 Cc1 L1 225 E1 b
130 82 é 162 A2 o 194 C2 226 E2 T
131 83 & 163 A3 1 195 C3 } 227 E3 mn
132 84 a 164 24 1 196 €4 - 228 E4 §
133 85 a 165 A5 N 197 C5 + 229 E5 o
134 86 a 166 As * 198 C6 F 230 Es n
135 87 ¢ 167 A7 ° 199 c7 | 231 E7
136 88 & 168 A8 ¢ 200 cg L 232 E§8 @
137 89 & 169 A9 201 C9 f 233 E9 @&
138 B8A e 170 202 ca & 234 EA Q
139 8B 1 171 203 CB s 235 EB @&
140 8C 1 172 204 cc | 236 EC
141 8D i 173 205 CD = 237 ED =
142 8E & 174 206 CE 4+ 238 EE ¢
143 8F A 175 207 . 239 EF n
144 90 E 176 208 DO L 240 FO =
145 91 = 177 208 D1 = 241 F1 =
146 92 K 178 B2 gﬁ 210 D2 7 242 Fz2 =z
147 93 & 179 B3 | 211 D3 L 243 F3 =
148 94 o 180 B4 A 212 D4 &k 244 F4 [
149 95 o 181 BS A 213 D5 F 245 F5 J
150 96 10 182 Be6 214 D6 246 F6 =
151 97 1 183 B7 q 215 D7 ¢ 247 F7 =
152 98 ¥ 154 BS& 3 216 D8 +#F 248 F8 °
153 99 O 185 B9 217 D9 A 249 F9 =
154 9a U 186 Ba | 218 DA r 250 Fa
155 9B ¢ 187 BB 3 212 DE |} 251 FB ¥
156 9C £ 1886 BC 4 220 DC o 252 FC =
157 9D ¥ 189 BD 1 z2z1 DD | 253 FD =
158 B9E & 190 BE 4 zzz DE | 254 FE N1
1589 9F f 191 BF 223 DFr W 255 FF O
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